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�ن  ا�	�ء ا�آ������	���ل ��) ��Ox/Red): (H2O2(aq)/H2O(l))و (O2(g)/H2O2(aq)( .  
  :�5 �4وط ,����3# 1�2# ، �	/�. ا�
&�%$ ذا,�� +�* ()�د�# ا�
&�%$ ا�
���#  ا�	�ء ا�آ�����آ	� أن 

 2H2O2(aq) = 2H2O(l) + O2(g)                                         )1 (  
  .ه@ا ا�
&�%$ :?�ء �5 در9# +�ارة %�د�# ، =�� أ�. �	/� ا�>��دة �5 %�8
. :��9د و7�8 آ�	����

 Vm = 25 L.mol-1: ا���E ا�	��� ���Dزات �5 �4وط ا�
��:# ه� : ا�	)?��ت 

  ) . 1( درا8# ا�
&�%$ :  ا��>ء أ

�� �Iآ�Hة و اGر�9 -1�&J��ا ��

�� ا��
�ن ��Mرك K�5	� أآ
* ا�	)�د�����N��: ��
��(
   .ا�	�ء ا�آ�����ع ا�	
2-  $%�&
 ) . 1( أ��> H9ول ,�Hم ا�


Hا�� �	���ل :  ا��>ء ب:Sا ���	�آ�> ا�
  . ا�	�ء ا�آ�����,)��� ا�
 TU�1L  �,@ا�ا $%�&
  J�� ، X�%10 L$ �5 ا����K# )  1( (� ا�	�ء ا�آ����� �5 أ��3ب ا2
�3ر %�,E ، و�W �5وف ا�

  .(�  ���� ا�آ���� 
  .ا�
&�%$أ+�* آ	�# (�دة  ���� ا�آ���� ا�	��K��% $J ا �  -1

�آ�> (���ل  -2� #��Y��# ا	���أن ا Z3 ء أ�	�رب �ا�آ����9ا��,L-1  0.80 mol.  
ا�	�ء (� (���ل  H���V0= 10.0 ml ()�5# ا���	# ا������# �K@ا ا�
�آ�> و(� أ9$ ذ�_ ، �^�+ @2	� H]ر\  -3

.                                                                                                           ، �5 و+ 78	C1= 0.2 mol .L-1  �U، و�)���\ :	���ل :�(���Dت ا���8�,�3م ذي ا�
�آ�>  ا�آ�����
MnO4): ا���N���ت ا�	�Mرآ# �5 ه@\ ا�	)���ة ه� 

-
(aq)/Mn2+

(aq))  و(O2(g)/H2O2(aq))  ت��D�)�: ل���) E�+
 a5�/
:                                                                                                       ()�د�# ,&�%$ ا�	)���ة ه�  . VE = 14.6 ml: ا���8�,�3م ا�	�/�ب �)�دل %�H ا�

5H2O2(aq) + 2MnO4
-
(aq) + 6H3O

+
(aq) = 5O2(g) + 2Mn2+

(aq) +14H2O(l)                            )2               (
�K��% ي�
 :%�	� أن �4ارد ا���D�)�3ت ,(?� ا���ن ا��3&��� ��	���ل ا�	��� ا�@ي ��

  ) ). 2( ا�
&�%$ ( :�� آ�c �	/� ()�5# :��غ ��?# ا�
/� a5�K@\ ا�	)���ة   - أ

Hا��# أوH9 ا�)d[# :�� آ	�# ا�	�دة   - ب:Sاn0(H2O2)  #5�U	�دة ا�	�# ا�	و آn0(MnO4

(� ا���D�)�3ت  (-
a5�/
 .%�H ا�

 E أ+�* ه@\ ا���	# ا�
���SH::C1 , V0 , VE  #�3�#  ���	�ء ا�آ����9أوH9 %�3رة ا�
�آ�> ا�	���   - ت

�آ�>��. 


�آ�> ا�	���:# �8:��  - ث�� #��Y��# ا	����3# :����
 . [�رن ه@\ ا���	# ا�
���&, Tf_�@� d	
 .ا (�

 ���N�ا ���	
  ) :���ط  5( ا�
 :ه� ,&�%$ :?�ء و,�م ()�د�# ا�
&�%$ ه�  Aا�@ي ��(> �.  (�N$ :�و:�ن-2-آ��رو -2إن إ(�ه# 

A+H2O =B+H+ (aq) +Cl- (aq)                           
  h�+B  و:�ن-2ه��: $�N)-2ول .(CH3)3C-OH  

 #Y����5 اt=0  #�	2$ آH� �)A  ره�H]n0=3.7mmol   X�% ي�
�� �M�: �5150Ml �?�	�ء ا�	�ا �)  
  . 2H� E$ ��2# [��س ا���[��# ،)آ	�# زا�Hة( 
   #Y����5 اt=0  #Y���و(# و�5 اH() #�%���[��# ا���ا ��H9وt=400s �K
	�] ��H9%�# و���[��# ا���ا #	�] 
  t=9.1mS.cm-1σ   _�ذ H(: #
:�  Z��:و.  


�:)# ه@ا ا�
��ل %� l��m [��س ا���[��#  إ�4ح �	�ذا-1) �/	�.  
  .+Hد [�	# ا�
�Hم ا�%Y	� -3.أ�H9 nMول ا�
�Hم-2
4- #Y���ا�. �5 ا ��:t #]d(��: مH�
  . X?(�  :(t)/σfσ x(t)=n0 ا�
 .  x (t1)أ+�* ا�
�Hم  mS.cm-1  5.1=1σآ��Z [�	# ا���[��# ا���%�# ��	>��5t1 p ا���Y# )أ-5
 
 
  



 

p آ
�# )ب-  �
  .=�� ا�		�. %�H ه@\ ا���A  #Yا8

  .X?(,A M=92.5g/mol ا�/
�# ا�	���# ا��>��s# �ـ 
 

 h��N�ا ���	
  ):���ط 5(  ا�

�رات (� ا��Hول ا�Hوريt) ���
  :�)?� �5 ا��Hول ا�

Mn25 Cr24  V23  Ti22  SC21  Ca20  

  
) ���م ���Y ا�&���د��م )V52

23   . γو��ا�M� .�5ط إ�M�:- β  �%�(4ط إ4)�%�     
 .أآ
* ا�	)�د�# ا���و�# ا�	)�3ة %� ا�
��ل ا�
����� ا���دث ��&���د��م -1
  . H�%t ا���H%N(t)  #Yد ����,�K  52�&���د��م ����H %��# (� ا -2

0Nو SH:(t)�# ا�>t(N  �)(%�3 %�  -أ   ) H�% #د ا����H%0t = ( �%�(4Gط ا�M��ا Z:� وλ . 
: إ4)�%� و%�3ر,. :SH�# ا�>(� ه� �)
�3 أن ا�&���د��م ه� ا�)��J ا��+�H �5 ا�)��# ا�@ي ���م :��Mط  -ب

dt

dN
)t(A −=       . �% �3%)t(Aln  #�SH:λ    ،0N  ،t ؟ 


��# �8:�# ا�@آ� :�اH% #?8اد �	/� ,�H% H�Hد ا�
&//�ت ����3 ���, l���, �% h�3�N∆−  �)ل زd2 #�1���ا

��J]t∆ �%�(4Gط ا�M���: دH(�ه@ا ا X%H� ،)t(A   #]d(��: )�ف	�ا  :
t

N
)t(A

∆
∆−≈. 

t(fAln(:�اp)���: #?8 �2ص ,E رE8 ا���3ن 3- = 

 -أ    ��: z	�� .��% $J�
  .ا�	@آ�رة l��)t(N��:�8 ,�����3  (� ا�)�3رة :�� أن 4/$ ا���3ن ا�	


p (� ا���3ن [�	#  �:Z ا���Mط ا4G)�%�  - ب  �
  . 52��&���د��م  λا8
  . 52%�ف �cJ +��ة ا�)��J ا�	E  TM أ+�3. :����3# ��&���د��م  - 9ـ 
  

         
 
 
 
 
 
 
 
  
  
 

 T:ا��ا ���	
  ):���ط 5(  ا�

Po 210( 210ا��3�����م 

&/_ إ���Y� X ا���1ص  ) 84� h�+ ��%)�47 إM�Pb   ت�	(()?�� ��9α( . 

�	% cJ�210Po     138jours.  
  .210(� ه� ,�آ�* ��اة ا��3�����م -2.(�()�7M� X إ4)�%�� -1
  .Z:� �%�(4λ ا���Mط اGأ+�* -4.���اة اz  �:Sو Aأآ
* ()�د�# ا�
&/_ (H�H�, T آ$ (� -3

  .ا�	��9دة �5 ا�)��#  210Poأ+�* %Hد أ���#    A0=1010 Bq: ه�  �M�210Po  H�%t=0ط %��# (� -5
6- ��: #]d(�ا *

&/_ ر:T ا�)��# ا�X ا���1ص .  H�%t ا���A(t)  #Yو A0أآ, X
  .Pbو(� ا�	Hة ا�>(��# ا�dز(# +
 E أ+�* [�	
. �	�  t1/2و SH:t�r  #%�3 %� ا�	�دود  δ h�+=A0-A(t)/A0 r(�دود ا���Mط ا4G)�%� �)�ف -7

t=1jour. 
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